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First Revision Examination- 2025
Time : 3.00 Hrs. i ,_ ; COMMERCE Marks : 90.
I. Choose the correct answer. -~ RSy . 20x1=20

1. Normally high level risk involved in
a) Industry b) Commerce c) Trade d)All of the above

-~ 2. Apartnership is formed by .
.a)agreement b) relationship among person c) the direct of Government d) fnendshlp.

3. ‘Consumer:co-operation was first successful in i 5 i < ‘
~ _.a)England b) USA c) Swiss -d) India - o)
4. The share capital of the government company must not be less than

-~ a)75% b)60% c)95% ‘d)51% . :

5. The Reserve Bank of india commenced its operatrons from Aprll 1,
a) 1936 b) 1935 c) 1934 d) 1933 j
6. Electronic banking can be done through : 5 v
a) computer b) mobile phones c)}ATM d) All the above B
7. Warehouses remove the hindrance of
a) person b) time c) nsk d) knowledge
8. Which is the fastest means of transport? -
' a) Rail b) Road c) Sea d)Air .
8. The basic principle of insurance is _ . Lo DR
a) Insurance intefest b) Co- _operation c) Subrogatlon d) Proxlmate cause’. -
" 10. The main benefit of outseurcing is :
a) Productivity b) Cost reduction o) Skill d) Unlts
'11. Ethics is important for L% - :
a) Top management b) Mlddle Ievelmanagers c)y Non- managerlal employees
* d) All of them : : : :
12. Aninstrument represenllng ownershlp interestin seourmes of a foreign insurer is called
a) an ownership certificate b a depository receipt- ¢) an ownersh|p receipt
d) None of the above : Sriin A ;
13. When goods are imported for the purpose of export |t is called as
) a) Foreign trade b) Home trade c) Entrepot d) Trade
14, Retailers deal in quantlty of goods a) Small- b} Large o) Medmm d) lelted
15. STCis expansion of
a) State Training Centre b) State Training Council o) State Trade Centre d) State Tradlng Corporatlon
16 The Balance of F'ayments Councils consists of - N :
a} Current Account b} Capital Account ¢) Reoelpts and Payments Acoount
d) Both Current Account. and Capital Account . ;
17. A B, C jointly promlsed to pay-Rs.50, 000 to D. Before performance of the oontract C dres Here the
contract - ; ¢
a) Becomes void on C's death b) Should be performed byA and B along W|th C's Iegal representatwes .
.C) Should performed by’A and B alone d) Should be renewal betweenA B and D

18. lncome Tax is- : . \ _ |
a)a busmess tax b) a direct tax o) an indirect tax d)none of these Sy i
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'b) What are the different types of short ter

_b) Discuss the various primary functions performed by t
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In‘India GST became effective from? - :
a) 1% Acrll, 2017 by 1* January, 2017 c) 1*July, 2017 d)‘l" March, 2017

The following does not characterize business activity?
a) Production of goods and services b) Presence of risk c) Sale or exchange of goods and services

Answer any 7 questions from the fnllowlng Q.No. 30 is compulsory. - 7x 2 =14
What is meant by Nallangadi? ; _ '
Define Profession. ' O 2
‘What are the two schools of Hindu law? . R . Toum) l K wmaTi)
Write two.examples of public corporation. V), Corm, M Fhy) ,m LIS,
What is Mobile Banking? ; SA.
Define Logistics. : ; EDEO] P& D
What is a free enterprise? - - Kum 8 C.H ool LARAL .

What is an American Depository Receipt(ADR)?

What is the Letter of Credit?

What do you mean by Goods and Services Taxes'?

Answer any 7 questions from the following. Q.No.40 is compulsory ' : 7x3=21

erte a short note on - RTGS.

‘Give the meaning of crop insurance. : i

What are the limitations of chain stores? (Any 3)

What are the contents of indents? =~ : SRgRE
Define a void contract.

List of the five heads of income:.

What is Pledge? _ +
What is the minimum and maximum number of members in the

" partnership concern? _ : ;

Mention the functions of SAARC.
What is the impact of e-commerce on buyers’?
Answer all the questions.
a) What are the hindrances of commerce. (Any 5) (OR)
b) What are the disadvantages of sole trading business?
a) What are the advantages of Departmental Undertaking? (Any 5) (OR)
b) What are the contents of Memorandum of Association? (Any 5)
a) Explam the advantages of warehousing function. (OR)
b) What are the features of internal trade? (Any 5)

7x5=35

‘a) Write about types of retailers. (Any 5) (OR)

b) Paint out the objectives of WTO. (Any 5)

a) What are the objectives of SHGs? (Any 5) (OR)
m finances given by commercial banks‘?
a) Distinguish between Bill of Lading and Charter Party. (OR)

b) What are the functions of wholesalers? -

a) Distinguish between direct and indirect taxes. (Any 5) (OR) . _ :
he commermal banks. (Any J)
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